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1p 5 Kies bij    5    in alinea 2 het juiste antwoord uit de gegeven 
mogelijkheden. 
A denial of 
B dislike of 
C indifference to 
D response to 
 

1p 6 What is the main function of paragraph 3? 
A to contradict the main point made in this text 
B to give new information about the main point made in this text 
C to illustrate the main point made in this text 
D to put the main point made in this text in a scientific context 
 

1p 7 Kies bij    7    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A In other words, 
B On top of this, 
C To the contrary, 
 

1p 8 Which of the following is meant with ‘occasional bumps’ in the last 
sentence? 
A disappointing moments 
B rare experiences 
C regular conflicts 
D unreachable goals 
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1p 9 What becomes clear about a robbery from paragraphs 1 and 2? 

A It proves that safes can be opened with garden equipment. 
B It succeeded because Tesco employees provided inside information. 
C It was carried out by a group of skilled and patient criminals. 
D It was so remarkable that it has since been turned into a film script. 
 

1p 10 Kies bij    10    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A alarming 
B copied 
C noisy 
D pointless 
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1p 11 What do Eccles (see paragraph 1) and Levenshulme (see paragraph 4) 
have in common according to the text? 
Both towns have 
A been targeted by the same group of criminals. 
B fallen victim to a similar sort of crime. 
C had security problems with Tesco shops. 
D invested in special training for the police force. 
 

1p 12 What is the function of paragraph 5? 
A to explain why the police is under pressure to solve the crime 
B to make clear why the scene of the crime was not protected at the time 
C to point out that the timing of the robbery was planned beforehand 
 

1p 13 ‘Police said they were appealing for anyone with information to contact 
them.’ (begin alinea 6) 
Welke van de volgende vragen stelt de politie niet, volgens alinea 6? 
A Wie heeft er mensen gezien met aarde op hun kleren in de buurt van 

de plaats delict? 
B Wie heeft er mensen verdacht zien rondhangen op of in de buurt van 

de plaats delict? 
C Wie heeft in zijn of haar omgeving horen praten over het graven van 

een tunnel? 
D Wie heeft mensen gezien die op onverklaarbare wijze besmeurd 

waren met verf? 
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2p 14 ‘What happened to the sparrows?’ (titel) 

 Welke twee oorzaken worden er genoemd voor het feit dat er steeds 
minder mussen zijn? 

Geef antwoord in het Nederlands. 
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2p 15 In de tekst zijn vier woorden weggelaten (   a   ,    b   ,    c    en    d   ). 

 Kies voor elk gat het juiste woord uit de volgende mogelijkheden: 
1 bitter 
2 fresh 
3 kid-friendly 
4 picky 
5 traditional 
Schrijf de nummers achter de letters in de uitwerkbijlage. 
Let op: er blijft één woord over. 
 


